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Directions (1-5):ﬁmﬁﬁammmmqj$ e Hifod 3R A e v
7oAl & 3 &S,

36 Afed Th UiFd H 9 8, 398 & $& I & AR IR Fo afEror & 3R
3AE § aUl 3o RAffes afRiwe wwe § - A, Ay, g, fAye, givaes, #=a1, & 3k
oIl (3T =gt T 38 A H gh).

C, A& e & Y TUT W 97 §, ST 37N A 3R 37T §.D, AYA gde it arol
fad & & ¥ Y TUT W 97 8. E 3R a1 gde = ard igd & JHET dhad
IR P §.G FI gRYF AR 986G & I6 C F 90 § gAY T R 3T §.B, A &
el @ gE TUT W 3T . D IR H FAET fem 1 3R Afhed E & Aol feem
3R 3779 §.F, 58 Joll 9de ¢ T8 C &I [@eheas usidh § 3R afaior &1 3R 3eq@
el 8.C 3R E & ALY hdd ol ITFd &, it A F fdehedd ISRT &l ¢. E 3 &l
3R 3799 §.9% AfFd 0 AY 9 § 98 IR AT 3N 37748 ¢ 3R 97 & TR
qHE HeT alel & g A A TUT W T §.G, B & faudia fem &7 3R dar &, s
F & HAW G 7 3R 307w ¢. 98 Ifda o8 Al TR e ¢ a8 givas afX
qHE el dlel T [dAeedd ISR §. H T 6T &,

QL Aeifafaa & & Fa A vy gug &7
(@D

(b) C

() A

(d)E

() $TH & IS oTeT

L1Difficulty 2

QTags Linear seating arrangement

Q2. [l & & &l ear UMY qdg FA arel & g & gE T T ST 872

(a) 98 <IfFd o9 AY AR gdie §
(b) F



(c) 98 afFad o & AR qde §
)G

() 3TH & Hg AT
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QTags Linear seating arrangement

Q3.H &I fam=faf@a & & =l ar fwe gug 82
(a) RE

(b) fAY=T

(c) e

(d) Felr

() STH & g g
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Q4.G& TEYy H F&r fufa «ar &2
(a) ST & =ter

(b) e & gaxr

(c) & ST

(d) e & e

(e) 318 & FI oTel
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QTags Linear seating arrangement

Q5. H & TeH H fAeAfaf@d & & &l ar &y a7 g7
(a) Hufed & fReT Ter 37fae O W daT §

(b) H, C &7 Aheds Us &

(c)B, H & &IV & g@Y ¥UH T &1 §

(d) H & gfiRas If o5 &

(e) 378 & FIg el

L1Difficulty 2
QTags Linear seating arrangement




Directions (6-10): A+=Ifaf@d A=l &1 aeqdesr 3egsT Hifad iR GT = geat
& 3 Afe:

“Gunjan Avni Dodo” &I “Z6% M5* W12* &hedel fhar Srem g7

“Laddu Kartik Priyas” @l “W26* R26* Z9* eeeyl T Srem §”

“Senju Rajesh Rohit” &I “Q22* H26% R12% &heseds faar Sirdr g7

Q6.&Y IS &S HINT 3 ‘Enhance’ HT H AT §?
(a) V13*

(b) M13%

(c) X13%

(d) X13*

(e)3TH & HI5 I8!

L1Difficulty 2

QTags Coding-Decoding

Q7.&Y IS FHC HAINT H ‘Reason’ & HE AT §7?
(a) L22*

(b) 122*

(c) L22%

(d) L2%

()3T & HIS &N

L1Difficulty 2

QTags Coding-Decoding

Q8.&Y IS H< HINT A ‘Chair’ T FHc FAT §7
(a) S24%

(b) S19%

(c) S19*

(d) 124%

(e)FTH | HIg T

L1Difficulty 2

QTags Coding-Decoding

Q9.2Y IS FHe ST A ‘Glass’ T e FAT 872
(a) H15%
(b) H15*



(c) H20%
(d) H18%

(e)FTH | FIg TeT
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QTags Coding-Decoding

Q10.8Y IS e ST H ‘Career’ T FHc FIAT §7
(a) V26%
(b) V26*
(c) 124%
(d) W9%

(e)3H § HIg =gl

L1Difficulty 2

QTags Coding-Decoding

Direction (11-12): HYsT: - FAATET &I Teh Afgell W 379l UHT ST grdes 9 T INalr
ARG I 3RIT SETT 33T g, JTARIRAT FT Fgell & b T IR ASAT T AT
ST Ted ale & 9T fRAT AT AT, 19 ATl I AATTET IRST HI 931 F8T W
A & d1g HI3E Siel H W IAT AT Flfeh IHA I Sl W Teh foheltel T&T o,
%%&WW?%WWWW%TG* &afY. STaTs7aT 30 SRl o S@T TR
38 38 Ul H P T F el AR §U 4.

Q11.3Wied U H ¥ fArafaf@a # & fraen ey frar a1 @e&ar &7
(i) 3eglal UAT 379 AT AT & By & de & v fFam

(i) 3=gl=t Ig U daieen Reiad aifed = & fow fRa.

(iif) AT 3o T Al G@A FT 3TeAe oA ¢ HTH $& TR A g
(iv) 3¢ fohdTe qdie 7€l &.

(a) Fae (i) 3R (iii)

(b) &Y (i), (ii), (iii) 31K (iv)

(c) Fad (iv) 3R (i)

(d) Shaef (i) 3R (i)

(e) 3o & S aret

L1Difficulty 2
QTags logical reasoning



Q12. FFATIITET & & &ieT AT U QU AT U & T A8l 7

(i) ST 39 WlaATeh Tec Hl Yol fhar ST TET AT J« Wel FT dled grel &7 sear o
o,

(i) RST T A Far3f3ar Rerar WDAY-TV &l §arar foh 38 Hdlel of 38 §dram o1
fF ag T FAT TRAT § "FifH g U g ded o, 84 JRGY il dIEd o'
(iii)ﬁ?ﬁﬁd@?ma@m?

(a) Fae (i) 3R (iii)

(b) T3 (i), (ii), 3R (iii)

(c) ahaer (ii) 31 (iii)

(d) Shaef (i) 3R (i)

(o) 3o & FE a7

L1Difficulty 2
QTags logical reasoning

Directions (13-15): s T 3T YA UA H U U 3R 3HF 91 & HUT HATP 1
IR NIRRT a1T §| 39t Ig 0T T g ToF hyal # ST 31T 31ehs 92T &l 3K
e & fow gafeq § ar a1 et saat 1 gfer 3R 3R §foR-

(a) IfE ®UT 1H QU T 3’3 3Hhel YT H 3R ol & [olT gITTT §, Afhed HUT
IH QU 31T 3Hhg kel U HI 3K ol & folw gATed g7 &.

(b) I FUF I H T 1T 31hs 3hel YA & 3R &oF & fav gaTeq §, AfheT Fue
15 fST 91T 3Mhg 3tehel U2 FI 3R &of & folT TATeT AT g.

()T a1 af FUA 17T FUA [ H U 3T 3Ths 37chel T & 30X ol & folU
g §.

(d) IfE T 131 FUT 1T & QU 31T 3hs A it 99 F1 3% & & fow
(e) TG U 1 3R FUT lIgAT H U 1T 3hs AT 9T & 3R &of & foIv
aed §

Q13.aY & g & P 319y AT fT TTAPRE HATAT &2



LPFr 8T ol S T TG g foh 3T ATARRE 20 A Tgel alfched 17 JAAG & d1G
gl
ILP% S &l 8 & TG g, [h 3THT ATARE 18 & dG oifehe] 21 SAad & Ugel
gl

L1Difficulty 1
QTags DATA sufficiency Reasoning

Q14.P,Q R S3R TH & Hld gad 1y &7

LQFH HRX 77 fFam &3 P3N RSP IR & AT & A &1 S3IR REAT &7 IR 50
fram & & 7l

IL Pl AR, SR Ta & #R & 30 g, odfhed REF #X § HA g, 5 GET qad
AT B

L1Difficulty 1
QTags DATA sufficiency Reasoning

Q15.40 oA T Fem 7 My T p & IF a1 872
LAST ®emT & MY O 91 Tared W § KA 24 TUT 3 &5 PH 7 TAH A &
I M, foger T P3N Zz& &g & & 3n/@y & 30a1 &1 A P& 310 TR F:aT &

L1Difficulty 1
QTags DATA sufficiency Reasoning

Solutions
Solutions (1-5):
Sol.

D | 2 Y \ S | | T
| N2 I I N N |
A D B F C H G E

(Aries) (Leo) (Virga) (Libra) (Cancer) (Gemini) (Scorpio) (Pisces)

S1. Ans.(d)

S2. Ans.(c)

S3. Ans.(b)

S4. Ans.(d)

S5. Ans.(b)

Solutions (6-10):



Sol.

(numerical value of
reverse of the 2nd
letter of the word)

DODO —_— W12 *

(if numerical value of
last word is odd than
use * else use %)

(reverse letter of the
2nd last letter of the
word)

S6. Ans.(d)
S7. Ans.(c)
S8. Ans.(e)
S9. Ans.(b)
S10. Ans.(a)

Solutions (11-12):

S11. Ans.(a)

Sol. In this question, we have to choose the options which can be true, in light of the given
statement.

Statement (i) can be assumed as it is given in the statement that it was a social media stunt.
Statement (ii) cannot be assumed as nothing of the sort has been mentioned in the
statement.

Statement (iii) can also be assumed as this act was done to draw people’s attention.
Statement (iv) cannot be assumed as nothing of the sort has been mentioned in the
statement.

S12. Ans.(e)

Sol. In this question we have to choose an option which is not in line with the given
statement.

Statement (i) is clearly related to the statement as it gives some details about the incident.
Statement (ii) is also in line with the statement as it gives Pedro’s aunt’s take on the
incident.

Statement (iii) is not in line with the statement as it talks about the gun laws in UK whereas
Minnesotta is in US.

Solutions (13-15):

S13. Ans.(e)

Sol. 19th January

S14. Ans.(b)

Sol. From statement II, R>P> (S, T), Since R is the second heaviest, it means Q is the

heaviest.
S15. Ans.(a)



Sol. From |,

A’s rank= 4t from top
K’s rank= 28 from top
P’s rank= 21st from top.



